2023/8/29
SLASH GUARD SGK11B Z1000 07— YA F7A—YJZAb

BT —ILEAS L

SGK11B Z1000
FREH] FEE ] S5

{#EH/3—{M10 x 300(P1.5) 1 1400 140
M10x140(P1.25) 1 900} 900
M10x120(P1.25) 1 800} 800
M10x20 P15 1 100 100
M8x55 .| 200 400
h3— M10_30mm A 300! eo%
h7— M10 25mm 1 280 28
h3— M8 35mm A 200} 40
E{AERF AT 1 1100 110
SN — A 250 50
M10FETyiv— 5 50 25
M8 Tuv— 2 40 8
M1073¥ +9b (P1.50) 2 3001 600

Y7410 Fn R {48 |




